Résoudre graphiquement
une inéquation
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1. Résoudref(x) <3
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2. Résoudref(x)>1
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3. Résoudref(x)=0
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4. Résoudre f (Xx) > -2

|

4
Cr
NI
1\
: 1 I R S S T S A




U

5. Résoudre f (X) < g(x)
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6. Résoudre f (X) > g(x)
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7. Résoudref (X)<-x+1
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8. Résoudre f (X) > 0,5 X
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9. Résoudref(xX)>x+3
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10.Résoudre f (X) < X + 2
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Solutions
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1. Résoudref(x) <3
J Ensemble des
solutions:
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2. Résoudref(x)>1

1 Ensemble des
1 solutions:
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3. Résoudref(x)>0

Ensemble des
solutions:
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4. Résoudre f (Xx) > -2

Ensemble des
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5. Résoudre f (X) < g(x)

Ensemble des
solutions:
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6. Résoudre f (X) > g(x)

Ensemble des
solutions:
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7. Résoudref (X)<-x+1

Ensemble des
solutions:
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8. Résoudre f (X) > 0,5 X
| Ensemble des

solutions:
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9. Résoudref(X)>Xx+3
/ Ensemble des

solutions:
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10.Résoudre f (X) < X + 2

/ Ensemble des

C solutions:
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